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%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Ram walks from his house at 4 km per hr. and reaches his school 9 minutes
late. If his speed had been 5 kKm per hr. he would have reached his school 6
minutes earlier. How far his school from house?

M 30 TR ¥ 4 fobdl gl ger &I 71fd A Iadl g 3R 9 B &R I 3+ Whd

g el ¢ | afe I¥P! d 5 fbeit uid Her gt i 98 6 e ugd 3o e ugd
ST ¥R 8 39PT Whd fdhd-l g 872

a) I Km
b) km
C) skm

d) "Km



@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

P sold an article to Q at a profit of 20 %, Q sold the same article to R at a
loss of 25 %. R sold the same article to T at a profit of 50%. If P bought the
article at 100, then at what price did T buy that article?

P Q®I20% & WH TR UH 9% I &4, Q 7 341 K] Bl R Bl 25% B!
B IR &1 R 7 50% o @1y TR 391 a3 &I T &I &d a1l fg P = Z 100
R WGl g, 4 T 39 0@ &I [$Y Jod U WGl 87

a) 145
b) 125
c) 115
d) 135




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A hostel has provision for ration for 1200 persons for 60 days. After 30 days a
batch of 300 persons were admitted to the hostel. How long will the remaining
provisions last?

U SEE™ | 1200 Afgdd] & v 60 & & ot A= ST uragE g1 30 e &

d1c 300 AfFad] & Ub od DI SEHE™E T Ydl Sl 1971 AY YidYH o db

q?
3 ) days
b) days
C) days

d) days



%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

If the simple interest on a certain sum of money for 4 years at the rate of 12.5%
IS Rs. 400 less than its principal. Find the sum.

afd 12.5% ﬁﬂ@ﬂﬂﬁ%%ﬂﬁfﬁﬁ@ﬂﬁ 0R IR TS 58D aHd I
400 3. HH g | I AR J1d PifoiU|

a) °%
b) 0=

d) )0 3.




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A boat goes 120 km along the stream in 6 hours while it goes 50 km against the
stream in 5 hours. How much time the boat will take to cover 105 km distance in
still water?

U 14 6 G T 4RI & 1Y 120 fhHl Sirdl g Sdfd 5 °9¢ H URT & [dv< 50 fhwl
SiTdll g1 IR 51 H 105 fbHl I g2 a8 B H A1d Bl fdba-11 I8 T2

a) nrs
b) hrs
C) hrs

d) hrs




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Find the greatest number of four digits, when divided by 195, 18, 21 and 24
leaves the remainders 9, 12, 15 and 18 respectively?

R 3p] DI T dol JBAT J1d HIE, O 15, 18, 21 3R 24 I [AUISIT B TR
BHHT: 9, 12, 15 3R 18 AYHA UK Bld ©7

a) 554
b) 554

C) )900
0:4 5




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

A man purchases some number of apples at the rate of 36 for

Rel. How many apples for a rupee should he sell to gain 44%
profit?

U AfFd 13 & 36 hI X @ $o Ad Wedl g , ATd Sl
44% T STH FATT & 0T Th 9T A hday A ST g9
2)20 b)25 ¢)24 d)28

HAS



mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Rahul has a bag which contains Rs. 1, 50 paisa, and 25 paisa coins and the
ratio of number of coins is 1 : 1/2 : 1/3. If Rahul has a total amount of Rs 1120,
then find the total value of 25 paisa coins.

G D U U Il H 139U, 50 U 3R 25 U & [{4ad g 3R Radb] & a1 3
U 1:1/2: 1/3 51 dfc UG & U Hd 1120 IUT 6, dd 25 U & RdD| P
P Hed JATd HISTT

a) 3 bU
b) ;s
C) ; 96

HAS

d) 3 70



%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO cODE : E06321 /
A sp

here of radius 12 cm is melted and re-casted into a right circular cone of
height 12 cm. The radius of the cone is.

12 JH! 51491 & U TMd DI UG Siidl g 3R 12 JHl 3dls & dd 9y Qi |
GICIT SITdT § | i D 1 1 572

a) - cm
b) om
C) cm

0:45EE



mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Amrit buys 5 carpets for Rs. 3,000 each while selling he gains 25% on 2 and
losses 20% on the others. What will be the overall loss or gain percentage?

3Id AP 3,000 30 H 5 DIl WGdl 5| 99+ & R 3 2 UR 25% P dlH
3R Y TR 20% D1 BT Bl g1 STDT Hal arH 1 gl Uld=Id 1 gRT?

a) > profit
b) o profit
C) o loss




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

The sum of all interior angles of a polygon is 1440°. The number of sides of the

polygon is

Uh dg Yol & GHI 3HidR HIVI BT AT 1440° g1 dgHS DI YSTTST I TAT HT 872

HAS

a)
b)
C) )
d) >



MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Two trains A and B start from same station travel in same direction, train A starts
at 9:30 with speed of 60 km/h and train B start at 10:30 with speed of 80 km/h,
then find at what distance they will meet?

Gl ¢ A 3R B U ol fa=1 H UP of TRH A M U= Dhdl g, oA A, 60 fodirder
@1 i A 9:30 Fof }F Bldil © 31R ¢ B, 80 fabHI/€er &1 71fd ¥ 10:30 &l = gldl
g, dd S1d IS fob 9 fobaHT gl WR rciin?

a) )0 km
b) okm

C) )0 km
0:4 S




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

1
A does half as much work as B in 6 of the time.

If together they take 10 days to complete a work,
how much time shall B take to do it alone?

B fordt s & f5a9 999 § & & 39 %WﬁA

T T AT 81 ARG HME Bl T HE & faQ <A1 i
% 10 & o €, @ B 1ohell 3@ &1 &I fovad @ug o
U HAM?

(1) 70 days / f& (2) 30 days / f<=

(3) 40 days / T&= (4) 50 days / f&d




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

From a can full of milk, 10 liters of milk is taken out and is replaced with water
and this operation is repeated one more time. If the capacity of the can is 50

liters, what is the ratio of the water and milk in the can after these operations?

U g8 ¥ R YR BU UM ¥, 10 WieR g¥ Mbmar /a1 2R Ul d fqRifud & f&ar
41 3R U8 Ufhal U aR 3R &1 T | afe = P o1idr 50 dice &, 59 Uidhdr &
§1¢ U H Y 3R M &1 3UId 3182

a) 16
b) 3:9
c) 12

d) s




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

In an examination, 40% of the candidates wrote their answers in Hindi and
others in English. The average marks of the candidates written in Hindi is 74
and the average marks of the candidates written in English is 77. What is the

average marks of all the candidates?

U URIE H, 40% 1l | @ 7 3R 2= 9 3fUsl 7 301 I forar| gl |
3R o1 dTel A= (gl & 3f19d 3l 74 & 3R Sl § I fora- arl srfgf
& Agd 3P 77 &1 GHT erafiigl & o gd 2id a1 22

a)
b)
C)
d)

w O W O




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Rs.1500 is invested in two parts such that if one part is invested at 6% and the
other at 5%, the total interest in one year from both investments is Rs. 85. How
much is invested at 5%7

1500 3T BT &l I H 59 UHR I a9 fooar oiar § & afe ud 4T 6% 3iR
QIR 5% TR A9 fbar Sirdn g, dl <l (921 3 U a9 3 $d 4191 85 30 Ul
gidl 61 5% UR fdaqr Aaw faar sirar g2

a) ;. 450
t)) .. 550
c) .. 500

d) 400




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Ifx +y+2z =8, xy+yz+zx=15then find x> + y°> + z° - 3xyz.

a) >
b) 52
C) 53

d) s

HAS
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=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

Find the median of the data 10, 8, 5, 3, 9,6, 12, 14, 13, 7, 1
31'@% 10,8,5,3,9,6, 12, 14,13, 7, 1 GARIER A Eﬁllﬁll}l

a)
b) >
C)
d) .




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

Find the number of sides of a regular polygon whose each exterior angle
measures 40°.

Uh I dghad D YolT3{f bl AT JTd SIS, 51 Ydd €1l HI0T D A 40°
gl

a)
b)
C)
d) )




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

If a certain sum of money Rs. 729 becomes Rs. 1331 in 3 years. Then, find the
rate of compound interest.

gi¢ 729 %, @I U [ATYA AR 3 a8 H 1331 %. 8l Sl © dl dehdla 4TSl B &R Id

Ppifore|
a) %
b) "
c) %

d) 2%



/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

Find the amount if the sum of Rs. 1600 is compounded at 10% half yearly for 1

year.
gfe 1600 YT Bl UPH gV & 10 10% DI &2 I 31¢f aiities =u I Igifora faar s
& a9 e 31d SIS
a) s 1823
b) . 1646
C) . 1764

(j) ;. 1720



=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

What will be the remainder when 67° is divided by 5?

676 B 5 Y HAT &1 R ANHd T 3?2

a)
b)
c)
d)




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

The simple interest on a certain sum of money at the rate of 5% p.a. for four
years is Rs. 420. At what rate of interest, the same amount of interest can be
received on the same sum after two and half years?

5% dTfYeh TSl Dl @R & IR aul & ferg T (A ¢=RIRr o= 9T AreRor sar
420 39U g | I g5 Bf fhd &) TR @I gy dIc GH AR TR <191 B JHE A1
UTtd i oIl Idhdl 672

a) °
b)
c) »




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

A dishonest shopkeeper sells goods at 10% loss on cost price but uses 20%
less weight. Find the actual gain or loss percentage:

QP sgH GPHER IXGSHl Pl T Hed TR 10% Pl 1A TR o4l , a1 20%
HH IOl DI IUGNT Hdl © | IRAIdD 1 g1 81+ UidRId J1d Difoi:

y RO
a) » 5% loss

b) ). 5% gain

C) 11%oss

d) 1% gain




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

A shopkeeper allows 25% discount on the marked price of an article and still
makes a profit of 20%. then what will be the ratio of the cost price and the
marked price of an article?

Uh GhHGR Uh 9¥d b 3ifbd e W 25% Pl e UaH Hdl g AR T 4t 20%
DT AT HSId DAl g, dl I K] P hd Hed AR 3ifdd e DI 3Urd &1 g2

a) S
b)
C) 4

d)



@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Ayan went from Ato B at a speed of 10 km/h and returned from Bto A at a
speed of 30 km/h. What was his average speed in the whole journey?

3141 10 foHl/eer ot 1fd A T & db 741 3R 30 {dHl/Ee o 1fd & G TR
cle 31aT| G g | 34t 3{19d i &r 412

a) ) km/h
b) 5kmn
C) > km/h

d) > kKm/h



@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

At present, the ratio of the ages of Maya and Chhaya is 6 : 5 and fifteen years
from now, the ratio will get changed to 9 : 8. Maya's present age is

AT H, HIAT 3R ST DI 311G BT 3JUIT 6 : 5 37 3 H 15 I dcp, ST 9 : 8
4 gfRafcd g1 SIuTm| {Arm o dad S1g =1 872

a) | years
b) { years
C) ) years

d) ) years




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

Find the mean proportional between 8 and 98.

8 3R 98 & dId T 3{Ulfcid HIH T DIfoIU|

a) e
b) 3
C) 12
d) .




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

By selling 22 plates for Rs.297, the seller lost 10%. How many plates should a
seller sell for Rs.180 to make a profit of 20%7?

22 @IeH Bl 297 3UY H g W, fdehdl dl 10% DI 81 851 20% DT 1Y HH &
feTu U fashdl &l 180 ¥Ud ¥ fdhd-l wic dg! d1igu?

a) o©
b) s
C)o

d)




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

A can finish a work in 20 days and B can finish the same work in 25 days. They
began together, but B left the work after 5 days. How many more days will A
take to finish the remaining work?

ATH HTH Bl 20 91 § I BT Ihdl & 3R B IHH H1H Bl 25 e & T
Hhdl 5| 9 [HdHR HTH HAT YE HRd g, didb- B, 5 a1 & dlG dIH BIS adl o
dl AN HTH B FH B S 00 A 3R g faT e

a)
b)
C)
d)




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

The simple interest on a certain sum at the end of three years at 5% p.a. is Rs.
1,200. The compound interest on the same sum for the same period at the
same rate is (interest compounded yearly).

5% A& IS DI &3 I di- a8f & 3fd § T [AfSd IR IR T4 91am 4Rl

15T 1,200 YU g | Al GHHE &O7S1 B &R IR GHA Al & (7T JH M R
b dlea STSl (751 dIf¥eh =Y I JIfSId gidl §) FT 672

a) . 820
b) . 1,800
C) . 1,260

d) . 1,261




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

The value of 27a° — 2\/2b? is equal to:
27a% — 2\2b3 BT A fb g aRTeR 57

a) )a — \V2b)(9a? + 2b? + 312 ab)
b) a — V2b)(9a2 + 2b? + 612 ab)

C) )a — \V2b)(9a% — 2b? + 612 ab)

d) )a — \V2b)(9a? — 2b? — 312 ab)



@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

A person marked his goods at a price that would give him 40% profit. But he
declared a sale and allowed 20% discount on the marked price. What is the
profit percentage of the person in the whole transaction?

Uch fad 30U Gxg3HT Dl 37 DId R [fgd Bl g Sl 3 40% 1Y U DT
dfdh- 3G U faehl DI 9NN Bl 3R 3{fdhd Ted U 20% §¥ UaH DIl dl IR
e 1 fad &l a1y Uid=rd 1 g2

a) )%
b) )%
C) %

d)



@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Two racers run at a speed of 100 m/min and 120 m/min, respectively. If the
second racer takes 10 minutes less than the first to complete the run, then how
long is the race?

&l YTae AL 100 Hie/fie 3R 120 Hiex/fie ®f 1fd W <isd ¢1 afd gar
19D GIS Pl IR D= P (AU Ugdl U1dP I 10 (84 HH ol ©, dl als [ba-! del

87

a) m
b) m
C) m

d) m



/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

If 66.66% discount is offered on marked price of an article, then selling price
becomes equal to the cost price of that article. What is the marked up
percentage?

gl fadl q%g,ch 3ifhd g UR 66. eeﬂfoﬁ@?ﬁaﬁ‘é dl fashd el 39 R &
b Hed & &xIaR gl oldl g | aftid Sifdbd Hed Wid=Id o1 872

a) 0%
b) 0%
C) 50%

d) d0%



/@ %aéeazmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E06321 /

sk, SATST ST |TEUT AT o sii<l 2 9N X 3 Iu1 o JH T U
9:31 =l tIthIT& TS ehl ATNeh L JTd L2 The ratio of the difference

between 2 years and 3 years between compound interest and simple

interest 1s 9:31, then find the annual rate of compound interest.?

1 442“/
. 9 0

2 571“/
. 7 0

3 663“/
. 3 0

4. NONE




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

. A man purchases a motor bike for a certain price and promise to pay the
price in two equal annual installments of Rs.8820 at the rate of 5% per

annum compounded annually. Find the cost price of motor bike.?t& 11eHt T

e qoa o [T Uk Aiet a1ge TliEar 8 3R arerT 5% it atvse X E € .8820 drar
AT ATk ToREAT W ShIAT TehT- hT JTGT HIAT &l IS Shi ATHTT Hod AT Shi (WT

a)Rs.16400 b)Rs.17640 ¢)Rs.16200 d)Rs.17200




